=g KIBIEKEE

= o yE
st fs 2 REZEHEDR
HE4Z H#EfE TR = 5A 8A 107 1A 125 25
- AIK aK oK mk = RIK K
= 2023/4/11 2023/6/5 2023/871 5023/10/16.| 2023711713 2023/1274 2024/276
- - 10;45 9:00 10;28 10:;45 9:15 10;05 8:45
- = ik, =Y i, 53] AL =Y
= = 18.4 203 759 18.3 8.9 12.4 5.1
= = 18.8 19.0 27.0 18.7 16.3 7.0 49
1 cfu/mL 100 0 0 0 0 0 0 0
2 BRESNENS — ArEH % TEEH LR Y 1] X AEEH T T FEH
3 me/L 0,003 0.0003 <0.0003 = = X <0.0003 - <0.0003 - =
4 me/L 0.0005 0.00005 <0,00005 = = - - = - = = = =
5 me/L 0.0 0.00 <0.00 = = <6.00 <0.00 = £6.60 = = = =
5 me/L 0.0 0.00 <0.00 = = <0.00 <0.00 = £0.00 = = = =
7 me/L 0.0 0.00 <0.00 = = <0.00 <0.00 = £0.00 = = = =
g me/L 0.0 0 <0.00 = = <0.007 <0.00 = <0.00 = = - -
me/L 0,04 0.004 0,004 <6.004 <0.004 <0.004 <0.004 <0.004 <0.004 <6.004 <0.004 <0.004 <0.004
me/L 0.01 0,001 <0001 = = <0.001 = = <0.001 = = =
me/L i 0.2 0.78 0.78 0.63 0.66 0.64 0.67 0.52 0.49 0.73 0.69 0.86
me/L 0.8 0.08 0.08 £0.08 <0.08 0.08 <008 <0.08 0.08 <0.08 <0.08 <0.08 <0.08
me/L 1.0 0.1 <0.1 - - 0.1 <01 - <01 - - -
me/L 0.002 0.0002 <0,0002 = = <0.0002 = = <0,0002 = = = =
1577 4—‘/2“##;; me/L 0.05 0,005 <0005 = = <0,005 = = <0.005 = = =
vA—=1,2—v780TFL2
16 | 2 78S 2 —1 2 SAOAT meg/L 0.04 0.004 <0.004 <0.004 <0.004
IADZI=1=¥L D) L 0.0 0.007 <000 = = <6.002 = = <0.00 = = = =
8T 5700 F LY L 0.0 0 <0.00 = = <0.00 = = <0.00 = = = =
I MSPILES o L 00 ; 00 - E 00 E E 000 - - - -
5 L 0,6 0,06 0.09 0.07 0.13 0.09 0,17 0.10 0.07 <0.06 0,086, <0.06
27500 RE L 0.02 0,007 = - 0,002 = = 0,002 = - - -
YRR I=E YA L 0.06 0.013 - - 0.01 - - 007 = = - -
LD l=]=] 3 L 0,03 0.007 - - 0.004 = = 3 = = = =
S OEOHAEY L. 0.1 0.002 = = 0.006 = = 3 z = = =
L 0,01 0,001 = = 0,001 = = 1001 z = = =
L 0.1 0,023 = = 0.034 = = 017 = = = =
i3 L. 0.03 0,007 = = 0.005 = = 1003 z = = =
20E0500045Y L. 0.03 0,007 = = 0.012 = = yi z = = =
JOERILL L 0.0 0.001 = = 0.001 = = 1001 z = = =
LT IVTER L 0.0 0,008 = = <0,008 = = 1008 z = = =
VZQIEEY L 1.0 0,01 = = <0.01 <0.01 = 01 z = = =
SO LROZDIEEY L. 0.2 0.02 = = 0.02 0.03 = z = = =
PR L 0.3 <0.03 = = <0.03 £0.03 = z = = -
ZDIEE L 1.0 <0.01 = = <0.01 <001 = z = = -
ZDEEY L 200 0.1 . . 9.5 0.7 - = = = =
ZDIEEM L 0.05 <0001 = = <0.,001 <0.001 = = = = =
V] o L 200 i ] 9 12 1 8 9 ii i0 i2 i0
IR REEE) L 300 480 = = 51.3 571 = 463 = = = =
L 500 86 = = 93 107 = 93 z = = =
. £0.02 = = = = = = = = = =
0 1 3 < 7 < 3 < i < < i
< <i <1 <1 < <i < <i <1 1 <i
0.005 <0.005 - - <6.005 - - <0.005 = = = -
0.0005 <0,0005 = = = = = - = = = =
0.3 0.7 0.9 0.6 0.6 0.6 0.4 0.5 0.6 0.7
0.1 739 WAK 716 ALK 723 733 ~7.30 "7.20 795
- =Rl H2ERL 2B 2Rl EErl EEEL 2ROl 2ROl 2=l
- EIEL 2EEL 2EaL 2ERL 2ROl 2EEL 2EGL 2ERL 2Erl
05 <05 <05 <05 <05 <05 <05 <05 <05 <05
0.1 <01 <0.1 <0.1 <01 <0.1 <0.1 <0.1 <0.1 <01
0.01 046 028 046 036 0,60 034 074 056 044
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= 202374/17 | 2023/5/15. | 5023/6/5. | 2023/1/3. | 2023/8/1 | 2023/974 | 2023/10/16.2023/11/13.| 2023/12/4 | 9024/1/9 | 2024/276_ | 2024/3/4
= = 8:55 8:50 9:30 8:55 9:24 9:10 9:40 9:30 9:00 9:30 9:40 9:30
- - [EY [ =Y 5 7 En B, i &
= = 16.9 21.9 244 31.2 21.8 0.5 11.6
= = 18.9 516 246 330 236 17.8 13.2
1 cfu/mL 100 0 0 0 0 0 0 0 0
2 KEHSnEL - LHEH TrEH TR LrEH DRERH TrEH TEH
3 me/L 0,003 0.0003 <0.0003 = $0.0003 = =
4 me/L 0.0005 0.00005 <0,00005 = = - = - < =
5 me/L 0.0 0.00 <0.00 = = <0.00 0,00 = £06.00 z =
5 me/L 0.0 0.00 <0.00 = = <0.00 <0.00 = <0.00 z =
7 me/L 0.0 0.00 <0.00 = = <0.00 <0.00 = <0.00 z =
g me/L 0.0 0 <0.00 = = <0.007 <0.00 = <0.00 < =
me/L 0,04 0.004 0,004 <0004 0,004 <0.004 0,004 <0004 0,004 <0004 0,004
me/L 0.01 0,001 0,001 - - <0001 = = 0,001 = =
me/L i 0.2 0.90 114 14 1.65 .25 125 0.93 0.99 1.0
me/L 0.8 0.08 0.08 {008 £0.08 £0.08 £0.08 <0.08 0,08 £0.08 £0.08
me/L 1.0 0.1 <0.1 - - <0.1 <0.1 - <01 - -
me/L 0.002 0.0002 <0.0002 = = £0.0002 = = $0,0002 z =
1577 4—‘/2“:\'—#;; me/L 0.05 0,005 <0005 = = <0.005 = = <0,005 z =
vA—=1,2—v780TFL2
168|570 =42 1 o ohnaT meg/L 0.04 0.004 <0.004 <0.004 <0.004
IADZI=1=¥L D) L 0.0 0.007 0,00 = = 0,007 = = 06,00 z = = =
18 TRZ700TF LY L 0.0 0 <0.00 = = <0.00 = = <0.00 z = = =
RNDVI-CEE 2 C 09 ; 000 E E o : E 000 E E - E E
5 L 0,6 0,06 <006 £0.08 0,06 0.08 0.07 0.07 0,08 £0.08 0,06 £0.08 <008
prys]a]i: L 0.02 £0,002 - - <0,002 = - 0,002 - - <0,002 - -
VERDIs[=E WA L 0.06 0,004 = = 0,005 = = 0,006 z = 0.003 = =
LY DD s u] (37 ] L 0,03 <0,003 = = <0,003 = = <0,003 z = <0,003 = =
S OEOHAEY L 0.1 0,002 = = 0,003 = = 0,002 z = 0.002 = =
L 0,01 <0,001 = = <0001 = = 0,001 z = <0,001 = =
L 0.1 0,008 = = 0,012 = = 0,012 z = 0.007 = =
i3 L 003 <0,003 = = <0,003 = = <0,003 z = <0,003 = =
J0ESHOOARY L 0.03 0,003 = = 0,004 = = 0,004 z = 0.003 = =
JOERILL L 0.0 <0001 = = <0001 = = 0,001 z = <0001 = =
LT IVTER L 0.0 <0008 = = <0,008 = = 0,008 z = <0,008 = =
VZQIEEY L 1.0 0.0 = = <00 <001 = 0,01 z = <00 = =
SO LROZDIEEY L 0.2 0.0 = = <00 0.02 = 0.03 z = <00 = =
PR L 0.3 <003 = = <0.03 <003 = £0.03 z = <003 = =
ZDIEE L 1.0 £0.01 = = <001 <001 = £0.01 z = <001 = =
ZDEEY L 200 5.3 . . 5.0 6.2 . 55 = = 5.8 - -
ZDIEEM L 0.05 <0001 = = <0.001 £0.001 = £0.001 = = <0001 = =
V] o L 200 b 5 5 6 6 5 5 5 5 5 5 5
IR REEE) L 300 420 = = 493 524 = 457 = = 479 = =
L 500 69 = = 83 93 = 82 z = 84 = =
. £0.02 = = = = = = = = = = =
0 < <1 <1 < <1 <1 < <1 <1 < <1 <1
< < <1 < <1 <1 < <1 <1 < <1 <1
0,005 0,005 = = <0005 = = 0,005 = = <0.005 = =
0.0005 <0,0005 = = = = = - - = = = =
0.3 <03 0.3 0.4 0.3 0.3 ) 0.4 0.4 0.4 0.3 <03 03
0.1 .52 766 78 7,59 712 773 794 780 AT) 7,50 7,54
- il H2ERL 2ROl H2Erl 22l el 2ol 2okl 2ol 2EEhl 2l
- EIEL 2EEL EELL 2Erl 2EaL EELL 2EEL 2EGL 2ErL 2ERL 2Erl
0.5 <05 <05 0.5 <05 0.6 0.5 <05 <05 <05 <05 <05
0.1 <01 <0.1 <0.1 <0.1 <01 0.1 <0.1 <0.1 <0.1 <01 <0.1
0.01 0,60 052 048 042 032 047 052 060 066 0.54 076




bk IEiG kiR

= o yE
# il = REZEHEDR
HE% HEME TRiE Iz 58 65 77 87 9 108 117 125 ;] 253 37
- iz T iz T iz T 2 T iz T iz
= 2023/4717 | 2023/5/15. | 5023/6/5. | 2023/1/3. | 2023/8/1 | 2023/974 | 2023/10/16 [ 2023/11/13.| 2023/12/4 | 9024/1/9 | 2024/576_ | 5024/3/4
= = 9:50 9:30 10:00 9:40 10:00 9:40 10:15 8:50 9:40 9:00 9:00 8:55
- - Bam. L7 E D) B e, 531 L7 700
= = 12.8 19.1 231 28.4 21.4 1.0 10.1 5.4
= = 15.4 191 21.0 575 19.8 18.8 91 74
1 cfu/mL 100 0 0 0 0 0 0 0 0
2 BRESNENS - ArEH T TEEH TrEt LR T T FEH
3 me/L 0,003 0.0003 <0.0003 = $0.0003 = = =
4 me/L 0.0005 0.00005 £0.00005 = = = - = - < = =
5 me/L 0.0 0.00 <0.00 = = <0.00 0,00 = £0.00 < = =
5 me/L 0.0 0.00 <0.00 = = <0.00 <0.00 = <0.00 < = =
7 me/L 0.0 0.00 <0.00 = = <0.00 <0.00 = <0.00 < = =
g me/L 0.0 0 <0.00 = = <0.007 <0.00 = <0.00 < = =
me/L 0,04 0.004 0,004 <0004 0,004 <0.004 0,004 <0004 0,004 <0004 0,004 <0004
me/L 0.01 0,001 <0.001 - - <0001 = = 0,001 = = =
me/L i 0.2 2.13 3.46 593 2.31 5.1 250 2.24 .36 570 178
me/L 0.8 0.08 <0.08 0.08 <0.08 0,09 0,09 <0.08 0.08 0.09 0.08 £0.08
me/L 1.0 0.1 <0.1 = - <0.1 <0.1 - <0.1 - - -
me/L 0.002 0.0002 <0.0002 = = £0.0002 = = $0,0002 z = = =
1577 4—:/2“##;; me/L 0.05 0,005 <0005 = = <0.005 = = <0,005 z = =
vA—=1,2—v780TFL2
168|570 =42 1 o ohnaT meg/L 0.04 0.004 <0.004 <0.004 <0.004
IADZI=1=¥L D) L 0.0 0.007 0,00 = = 0,007 = = 06,00 z = = =
181 rZ700IF 0y L 0.0 0 <0.00 = = <0.00 = = <0.00 z = = =
RiRganrFLs C 09 ; 000 E E o : - 000 E E - E
5 L 0,6 0.27 0.23 0.27 0.29 0.21 0,16 0.42 099 0.19 0.27 0.2
prys]a]i: L 0.02 £0,002 = = <0,002 = = 0,002 = = = =
YRR I=E YA L 0.06 0,003 - - 0.006 - - 0,002 = = - -
LY DD s u] (37 ] L 0,03 <0,003 = = <0,003 = = 0,003 z = = =
S OEOHAEY L 0.1 0,003 = = 0,005 = = 0.005 z = = =
L 0,01 <0,001 = = <0001 = = 0.001 z = = =
L 0.1 0011 = = 0,018 = = 0,012 z = = =
i3 L 003 <0,003 = = <0,003 = = 0,003 z = = =
J0ESHOOARY L 0.03 0,004 = = 0,006 = = 0,004 z = = =
JOERILL L 0.0 <0001 = = 0.001 = = 0,002 z = = =
[\ 7L TER L 0.0 <0008 = = <0,008 = = £0.008 z = 0 = =
VZQIEEY L 1.0 0.0 = = <00 <001 = 0.0 z = <00 = =
SO LROZDIEEY L 0.2 0.0 = = <00 <001 = 0.0 z = <00 = =
PR L 0.3 <003 = = <0.03 <0.03 = £0.03 z = <003 = =
ZDIEE L 1.0 £0.01 = = <001 <001 = <001 z = <001 = =
ZDEEY L 200 6.5 . . 6.4 12 - 7.3 = = 12 - -
ZDIEEN L 0.05 £0.001 = = <0001 £0.001 = £0.001 = = <0001 = =
V] o L 200 10 i0 9 9 8 8 8 8 8 9 8 ]
TR LR Y L 300 730 = = 649 746 = 76.5 = = 71 = =
L 500 121 = = 107 133 = 126 z = 129 = =
. £0.02 = = = = = = = = = = =
0 < <i <i < <i <i < <i <i < <i <i
< <1 <1 < <1 <1 < <1 <1 < <1 <1
0,005 0,005 = = <0005 = = 0,005 = = <0.005 = =
0.0005 <0,0005 = = - = = - - = = = =
0.3 0.4 0.4 0.4 0.4 0.4 0.3 <03 0.6 <03 0.4 0.4 0.3
0.1 7 54 752 7.48 .46, 750 WY) 741 iy iy ! 733 7,49
- 2ehl 2ol YA 2ol 22l 2Rl EErl EEEL 2ROl 2Rl 2ROl 2=l
- 2EIL 2EEL EELL 2Erl 2EaL 2ERL 2ROl 2EEL 2EGL 2ErL 2ERL 2Erl
0.5 <05 <05 0.5 <05 <05 <05 <0.5 <05 <05 <0.5 <0.5 <0.5
0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 0.1 <0.1 <0.1
0.01 048 038 0.44 038 040 040 038 044 060 056 062 058




